78

n w3
W55 =/LF—% / Technical Datall MALAZ / Gomponents
No. & %R / Part name #E / Pcs #ME / Material - REUIE / Color:Finish
#iffH)LY / Recommended torque 1 1—F—J0vs A FLSE A F 1Ak ADC12 NN—, TFu- B (NERILE)
/-'{ﬁ T\{TJ'#{)H“M3X10 / Hexagonal M3-10 ;: 0.2N-m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
Btk TILEHRHH A6063S-T5 DW= TSV TILIAND T HE
%0)1ﬂt‘z / Other screws : 0.3N*m ~ 0.6N*m 2 Frame 2 Extruded aluminium A6063S-T5 Silver, Black*Anodized with clear coating
3 IL—L 4 TV A6063S-T5 DIN— TS -T IR T B
Panel support frame Extruded aluminium A6063S-T5 Silver, Black*Anodized with clear coating
4 2RIV ) 7ILSHR A1100P DIWIN— TS5 FILIAb
Panel Aluminium A1100P Silver, Black*Anodized
5 Hn— : 7IJLEHR A1100P DIWIN— TS5 FILIAb
Top cover Aluminium A1100P Silver, Black*Anodized
6 TH/N— 1 7IL2HR A1100P DIIN— TS99 FILIAk
Bottom cover Aluminium A1100P Silver, Black* Anodized
. aA—F—H—F o TPE (LS XLV) T390, TJ—, FME—, Luk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
g E{tE R (M3 x 8) 1 % =T ILAYF
Screw (Flat head M3 - 8) Steel Nickel plated
9 IRFER (RERFARILEMS x 10) g % =R /DAt
Screw (Hexagonal M3-10) Steel Black trivalent chromate
10 BAER GRAFRERMS x 5) 4 % ZwiLAvE | =mE/OA—k
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated , Black trivalent chromate

2
B (FBERREDOO) / Color Type (End of product number[1)
E2%5 / Code FILE4H—X / Aluminium enclosure a—4—H—K / Corner guard
S B < JLiN— / Silver 75v9% / Black 5% Tite
[=]=]
° 8 IR / Siver T/ Gray TAKACHI] #BsteitshFEMTE R O |
= G —F—H—K4s S

S N < JLsN— / Silver RAE—/ Navy A== A—FETLST—R <J |
S R :/}bl(— / Silver I/‘VP / Red TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with CORNER GUARD R,—;/Scale
B B J55w% / Black 5594 / Black A F2/Approved #%[X/Checked #[X/Created #4F /Product number =
B G J5w% / Black J'L— / Gray EP*E F H% AUG66-43-1 6_|:| |:|
B N 7594 / Black KAE— / Navy R—2/Page
B R 9599 / Black Ly / Red R /Date  2024/09/27 1/7

AREDEIEIIHRXSHINTFEMITEITIZEBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:6)

66 +=0.3
(r—R4V 2 / External)

383

D view

o=

113

160 0.5 (.- — R4} 2 / External)

78

E view

430 +0.8 (r—X 4\ #2 / External)

A view

F view

R24

438

N

A\

N

A-A(1:6) C-C(1:6)
[ < o
< S
146 423
C view B view
168
= ———
i
[Ip)
= —_—
[lp)
N
R52
o
Lo
fnd/Title

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a—F—hH—FEF7ILIHr—R
ALUMINIUM ENCLOSURE with CORNER GUARD

o]

7 5%/ Approved

iR

t&X]/Checked

3

#I[X/Created

wF

FIE /Product number

AUG66-43-16-L1011

RE/Scale
1:6

YERZ B /Date 2023/08/02

R— /Page

2 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

110 225
™
(to—
™
[ap)
~
S S
2.5
@
™
\-"‘J_'T_‘Ftl
[ap)
<
5 2-M3F YS9 5
2-M3 Countersunk
X RxIEH Rk / Same on the other side. N
R / Front side Z M / Back side
D {8I#% / D Frame
(T
\J""_.‘—J-U
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created FIFE /Product number RE/Scale
1:2
iR £ wF ~R—/Page
H66 — D160 YERL B /Date 2023/11/27 3 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

380

L)

(M

R

S

2-M3HHY IR
2-M3 Countersunk

M3

14

68 2

45

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:2
iR E: w4t —
W430 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\A2R)L / A Panel

380

55

B#~TiE / Max dim. 372+ 0.5

M@ / Front side

B /\7~JL / B Panel

M / Front side

<ti% / Max dim. 47+0.3

)]

ol

REE—HMAY

Surface protective film side

REE—HMAY

Surface protective film side

1.5

ZETE / Back side

Z | / Back side

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
INTR)L

Panel

o]

7 5%/ Approved #%[X|/Checked #I[X/Created R F /Product number RIE/Scale
1:35
Al
th *E F AN R—/Page
H66 — W430 {ERL B /Date 2022/09/27 5 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494

130

3R / Front side

4194

400

s
\

AH3hT% / Max dim. 383 £ 0.5

A% / Max dim. 113 £ 0.5

6-@4.5

fREE—HAY

Surface protective film side

2 / Back side

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number RE/Scale
1:4
PR =3 BF R—/Page
W430 - D160 {ER B /Date 2023/12/13 6 / 7

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494

130

3R / Front side

4194

400

s
\

AH3hT% / Max dim. 383 £ 0.5

A% / Max dim. 113 £ 0.5

6-@4.5

fREE—HAY

Surface protective film side

2 / Back side

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
Thi—

Bottom cover

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:4
PR =3 BF R—/Page
W430 - D160 {ERL B /Date 2023/12/13 771

AREDEFEIBRREHINTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model
	AM_VIEW1
	AM_VIEW2
	AM_VIEW3
	AM_VIEW4
	AM_VIEW5
	AM_VIEW6






